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CMPT3640

PNP SILICON TRANSISTOR
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DESCRIPTION:

The CENTRAL SEMICONDUCTOR
CMPT3640 type is an PNP silicon transistor
manufactured by the epitaxial planar process,
epoxy molded in a surface mount package,
designed for saturated switching applications.
Marking code is C2J.

SYMBOL UNITS
Collector-Base Voltage VcBO 12 \
Collector-Emitter Voltage VCEO 18 \
Emitter-Base Voltage VEBO 4.0 \
Collector Current Ic 80 mA
Power Dissipation Pp 350 mw
Operating and Storage
Junction Temperature T3:Tstg -65 to +150 oc
Thermal Resistance CRIN 357 oc/w
ELECTRICAL CHARACTERISTICS (TpA=25°C unless otherwise noted)
SYMBOL TEST CONDITIONS MIN MAX UNITS
IcES VcEg=6.0V 10 nA
IcES VcE=6.0V, Tp=65°C 10 HA
g VcEg=6.0V, VEg=0 10 nA
BVCBO |C:100|JA 12 \%
BVCEO IC:1OmA 12 \%
BVEBO |E:100UA 4.0 V
VCE(SAT) Ic=10mA, Ig=1.0mA 0.20 Vv
VCE(SAT) Ic=50mA, Ig=5.0mA 0.60 Vv
VCE(SAT) Ic=10mA, Ig=1.0mA, TA:65OC 0.25 Vv
VBE(SAT) Ic=10mA, 1g=0.5mA 0.75 0.95 v
e ‘j)‘aE{SAT) IC:1OmA, IB:1.OmA 0.80 1.00 \%
(& BR(SAT) Ic=50mA, 13=5.0mA 1.50 v
;;}kg 7 Vcg=0.3V, Ic=10mA 30 120
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http://www.dzsc.com/icstock/261/CMPT3640.html
http://www.jdbpcb.com/J/
http://www.jdbpcb.com/J/
http://pdf.dzsc.com/

SYMBOL
hFe

fr

Cob

Cib

TEST CONDITIONS MIN
Vce=1.0V, Ic=50mA 20
Vcg=5.0V, Ic=10mA, f=100MHz 500
Vcp=5.0V, Ig=0, f=1.0MHz
Vgg=0.5V, Ic=0, f=1.0MHz
Vcc=6.0V, Vgg=1.9, Ic=50mA, Ig1=5.0mA
Vcc=6.0V, Vgg=1.9, Ic=50mA, Ig1=5.0mA
Vc=6.0V, Ic=50mA, Ig1=Ig2=5.0mA
VCCZGOVJC:5OmAJBlﬂBZZ5OmA
VCCZGDV,VBE:LQJC:5mﬂAJBlz5OmA
VCC:LSVchlmﬂAJ81:Q5mA
Vcc=6.0V, Vgg=1.9, Ic=50mA, Ig1=5.0mA
Vee=1.5V, Ic=10mA, Ig1=Ig2=0.5mA
All dimensions in inches (mm).
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LEAD CODE:

1) BASE
2) EMITTER
3) COLLECTOR

R2?2



